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7 100kN/m#%#BZ2%| 100|000 ~ 036 10530 |3mEBZZ| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1059 ~ 1160 10530 |3mZEHBZ3 -~ — — —
ThLlst 100036 ~ 814 100.00 | This 000 ~ 814|213 11.42 zh st 100|500 ~ 1059 100.00 | Zhs | 500 ~ 1160|213 11.42
2 100kN/m#%#BZ2%| 100|000 ~ 062 10925 |3mEBZE| — ~ — — — | 100kN/m%E#BZ5| 1.00 | 1053 ~ 1230 109.25 |3mZEHBZ3% -~ — — —
ThLlst 100|062 ~ 841 100.00 | Fhilst | 000 ~ 841|218 11.67 ThLlst 100|500 ~ 1053 100.00 | =hst | 500 ~ 1230|218 11.67
3 100kN/m##25| 1.00| 000 ~ 081 11209 |3m%&xEZB| — ~ — — — | 100kN/m%E# 25| 1.00 | 1053 ~ 1290 112.09 |3mZEHBZ3 -~ — — —
zh sk 1.00 | 081 ~ 859 100.00 | #nds | 000 ~ 859|219 11.70 zh st 1.00 | 5.00 ~ 1053 100.00 | #nS | 6.00 ~ 1290|219 11.70
p 100kN/m#%#8 % % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 1000 ~ 365 46.07 | ThS | 000 ~ 365|217 11.59 zh st 1.00 | 5.00 ~ 5.00 46.07 | ThS | 6.00 ~ 500|217 11.59
5 100kN/m#%#8Z % - -~ = —[3mZBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh s 1.00 | 000 ~ 591 73.95 | TnS | 000 ~ 000|161 8.64 Zzh s 1.00 | 5.00 ~ 7.00 73.95 | TnS | 5.00 ~ 7.00) 1.61 8.64
6 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
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zh st 1.00 | 000 ~ 703 89.26 | =S | 000 ~ 703|179 9.59 Zzh s 1.00 | 5.00 ~ 880 89.26 | =N | 500 ~ 880 1.79 9.69
9 100kN/m#%#8Z % - -~ = —[3mZBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 000 ~ 717 91.19 | #hs | 0o0 ~ 717|184 9.85 zh st 1.00 | 5.00 ~ 922 91.19 | #hs | 5.00 ~ 922 | 1.84 9.85
10 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/MiZ# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 000 ~ 717 91.19 | #hs | 0o0 ~ 717|184 9.85 zh sk 1.00 | 5.00 ~ 922 91.19 | #hs | 5.00 ~ 922 | 1.84 9.85
11 100kN/m#%#8Z % - -~ = —[3mZEBRB[ — ~ — — — | 100kN/Mi%# 8% % - -~ — —[3mZEBZ 2 -~ — — —
zh sk 1.00 | 000 ~ 552 68.85 | ThS | 000 ~ 000|157 8.38 ZzhLs 1.00 | 5.00 ~ 6.60 68.85 | ThS | 6.00 ~ 6.60 )| 1.567 8.38
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